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QUESTION 1

Enterprise A invokes a Web service provided by enterprise B with some parameters, and receives a response. A
developer is making this interaction asynchronous so that A does not have to wait for B to finish processing. Which two
actions would be appropriate to fulfill this requirement? (Choose two.) 

A. Establish a Web service endpoint for enterprise A to receive the response. 

B. Partition the endpoint implementation in to interaction and processing layers so responses can be received
independently. 

C. Convert all Web service methods to use XML documents as parameters and return values. 

D. Embed a correlation identifier in the request so that enterprise B can associate the response with it. 

E. Read messages from a queue populated by enterprise B at peak hours when response times are too slow 

Correct Answer: AD 

 

QUESTION 2

When a SOAP envelope is optimized on the wire, the following can be said about the optimized infoset : (Choose one) 

A. optimized infoset contains xop:Include elements with href attribute pointing to attachment data 

B. optimized infoset contains mtom:Import with location attribute pointing to attachment data 

C. optimized infoset doesn\\'t have any specific elements for MIME attachment. 

D. optimzed infoset\\'s element contain cid:Content-ID as the text and Content-ID refers to the associated attachment 

Correct Answer: A 

 

QUESTION 3

Which of the following two EJB types can be used as web service endpoints ? (Choose two.) 

A. Stateful Session EJB 

B. Message-Driven EJB 

C. Stateless Session EJB 

D. Singleton Session EJB 

Correct Answer: CD 
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QUESTION 4

HTTP clients can provide authentication information to the server via the "Authorization" header in the HTTP request.
Choose the alternative, if any, that would serve as the definition for a resource method that would allow a JAX-RS
resource to obtain this authentication data (Choose one): 

A. It is impossible for a JAX-RS resource to obtain this information, since low-level HTTP data is not presented to the
JAX-RS application layer. 

B. @GET @Path("/authInfo") public String getAuthInfo( String authenticate ) { return authenticate; } 

C. @GET @Path("/authInfo/{AUTHENTICATE}") public String getAuthInfo( @PathParam("Authorization") String auth ) {
return authenticate; } 

D. @GET @Path("/authInfo") public String getAuthInfo( @HeaderParam("Authorization") String auth ) { return
authenticate; } 

Correct Answer: D 

 

QUESTION 5

Which of the following is NOT a correct way of configuring handlers on a Web Service client ? (Choose one) 

A. Specify the handlers in jaxws-catalog.xml and make it available in the classpath of the client 

B. Create a handlerchain as list of handlers and call setHandlerChain() with that list on the Binding object. 

C. Programmatically configure the handlers by setting a custom HandlerResolver on the service instance and create
proxies from that service. 

D. Specify handlers in handler chain configuration XML file and add @HandlerChain referencing handler configuration
file to the Web Service references for clients running in JavaEE Container. 

Correct Answer: A 
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